sklearnZz{E>1=[ElIF 54T

BRFETIL. ERFEETIL




importd 455475

import numpy as np

import pandas as pd

import matplotlib.pyplot as plt

import seaborn as sns

from sklearn.linear_model import LinearRegression
from sklearn.feature_selection import f_regression
from sklearn.preprocessing import StandardScaler
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data = pd.read_csv(Z77/IL &)
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data
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data.head()
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sklearn®LinearRegression7 XA T VD EE
reg = LinearRegression()
S—TIrERHBEDHA
reg.fit(x_matrix,y)
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scorerV YR E->TRERHZTKD S
reg.score(x_matrix,y)

coef_TRHMDMER  KMIZTHOBEHDFRHUZETITRY
reg.coef_

intercept_CH1 F D &R
reg.intercept_
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def adj_coef(x,y):
r2 = reg.score(x,y)
#n=T—2DH
n = x.shape[0]
#p=KEHOH
p = x.shape[1]
# 3
adjusted_r2 = 1-(1-r2)*(n-1)/(n-p-1)
return adjusted_r2
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predict AV YR EERT 5,
reg.predict(({EE D E])
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from sklearn.feature_selection import f_regression #{# > TpfEZKRH B

f_regression Ay M 5pfEZFELY H 9
p_values = f_regression(x,y)[1]

PIEZHNHL N REICMRRIZT D)
p_values = p_values.round(3)
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def reg_table(x,reg,p_values):

reg_summary = pd.DataFrame(data = x.columns.values,columns=['Features'])
reg_summary ['Coefficients'] = reg.coef_

reg_summary ['p-values'] = p_values.round(3)

return reg_summary
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from sklearn.preprocessing import StandardScalerz{#>Ti2# 1t ¥ %,

StandardScalery 5 A& E%9 5,
scaler = StandardScaler()

fit AV VR FEoTREILDERET S,

scaler.fit(x)

transform AV R ZE->TREILZEITT S
x_scaled = scaler.transform(x)

KEBELEILDEFLAZRELZ—KUITITVEWMEEE
x_scaled = scalerﬁt_transform(x)
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